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£ = -19.7| -20.2 | -18.8 | -19.3 | -15.1 [ -155 | -186 | -19.1 | -11.5 | -11.7 | -37.7 | -38.2 | -25.8 | -26.1
1048 Th -19.9 | 200 | -18.9 | -19.0 | -143 [ -143 | -19.0 [ -19.1 | -88 | -8.9 | -41.1 | -41.1 | -253 | -25.4
AL -19.5 ] -19.5 | -19.9 | -19.9 | -14.2 [ -14.2 | -20.1 [ -20.1 | -3.4| -3.4| -46.0 | -46.0 | —20.4 | —20.4
e -23.7 ] -23.7| -16.3| -16.3 [ -12.7 [ -12.7 ] -19.9 [ -19.9 [ 4.3 | 4.3|-49.2| -49.2 | -30.0 | -30.0
B -16.5 | -16.5 | -14.9 | -14.9 | -11.5 [ -11.5 | -15.2 [ -15.2| -6.9| -6.9| -37.0| -37.0 | -17.7 | -17.7
it -20.7 | -20.7 | -18.9 | -18.9 | -18.5 [ -18.5 | -18.0 | -18.0 [ -11.7 [ -11.7 | -38.3 | -38.3 | -33.0 | -33.0
&R -25.0 | -25.0 | —24.0 | —24.0 | -17.6 | -17.6 | -25.0 | -25.0 | -11.4 | -11.4 | -46.0 | -46.0 | -27.5 | -27.5
HUHR -25.1 ] -26.8 | —28.3 | —29.3 | -29.5 [ -30.0 | -27.1 [ -28.5 [ -20.2 | -21.0 | -44.6 | -44.7 | -32.4 | -32.8
KB -22.1 ] -22.1| -19.4 | -19.4 | -13.3 [ -13.3 | -17.3 [ -17.3 [ -10.9 | -10.9 | -43.1 | -43.1 | -31.9 | -31.9
(LRl -21.1 | -21.1 | -25.4 | -25.4 | -17.6 | -17.6 | -26.7 | -26.7 | -10.3 | -10.3 | -43.1 | -43.1 | -26.5 | -26.5
N -18.9 | -18.9 | -18.3 | -18.3 [ -10.3 [ -10.3 | -19.0 [ -19.0 | -10.1 | -10.1 | -38.1 | -38.1 | -27.7 | -27.7
e e -17.8 | -17.8 | -14.0 | -14.0 | -9.3| -9.3|-14.1 [ -14.1| -3.4| -3.4|-36.3| -36.3 | —25.2 | -25.2
1ol K| -19.3 | -20.5 | -18.6 | -19.8 | -16.8 [ -18.1 | -17.8 | -19.0 [ -15.4 [ -15.8 | -31.9 | -33.3 | -26.8 | -27.9
AbiE -20.0 | -20.0 | -19.4 | -19.4 | -16.7 [ -16.7 | -19.8 | -19.8 [ -16.5 | -16.5 | -27.2 | -27.2 | -25.6 | —25.6
#ik -19.7 1 -19.7| -19.5 | -19.5 | -19.2 [ -19.2 | -17.2 | -17.2 | -17.4 | -17.4 | -35.7 | -35.7 | -27.8 | -27.8
BT -19.8 | -19.8 | -19.0 | -19.0 [ -17.1 [ -17.1 | -18.8 | -18.8 | -14.8 | -14.8 | -30.7 | -30.7 | -27.0 | -27.0
HE -18.4 | -18.4 | -19.4 | -19.4 | -18.5 [ -18.5 | -18.0 [ -18.0 | -17.9 | -17.9 | -35.9 | -35.9 | -25.2 | -25.2
% -15.1] -15.1 | -15.0 | -15.0 [ -19.8 [ -19.8 | -13.9 [ -13.9 | -7.3| -7.3| -24.6 | —24.6 | —23.5 | -23.5
1 [E] -22.8 1 -22.8-19.5| -19.5 | -16.3 [ -16.3 | -18.4 | -18.4 | -14.9 | -14.9 | -34.6 | -34.6 | -33.1 | -33.1
VY [ -22.2] -30.6 | —20.3 | —29.4 | -15.0 [ -23.5 | -18.9 [ -28.6 | -18.6 | -24.4 | -45.1 | -53.0 | —27.1 | -34.9
FLIN -18.9 | -23.2| -17.9 | —21.9 [ -13.9 [ -18.1 | -16.3 [ —20.6 | -19.8 | —20.5 | -32.3 | -37.0 | —25.6 | —28.8
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A B A B A B A B A B A B A B A B
£ E -32.2 | -32.6 | -25.8 | -26.1 | -44.9 [ -45.1 | -17.2 | -18.2 | -28.5 | -28.9 | -35.4 | -35.9 | -35.4 | -35.6 | —24.2 | -24.6
10408 -31.7 | -31.8 | -22.6 | -22.6 | -45.3 [ -45.3 | -17.1 | -17.5 | -28.0 | —28.1 | -34.4 | -34.4 | -29.6 | —29.6 | —24.2 | -24.3
AL -35.3 | -35.3 | =29.7 | —29.7 | -41.5 [ -41.5 | -32.5 | -32.5 | -27.7 [ -27.7 | -38.0 | -38.0 | -90.2 | -90.2 | —22.8 | -22.8
il -47.8 | -47.8 | -33.9 | -33.9 | 55.9 [ -55.9 | —27.2 | —27.2 [ -19.8 [ -19.8 | -45.1 | -45.1 | -37.2 | -37.2 | -13.4 | -13.4
B -28.9 | -28.9 | -17.3 | -17.3 | -43.5 [ -43.5 | -16.7 | -16.7 | -24.8 | -24.8 | -34.3 | -34.3 | -25.4 | -25.4 | -18.5 | -18.5
v -32.6 | -32.6 | —29.8 | —29.8 | -51.6 [ -51.6 | —14.6 | —14.6 [ -30.0 [ -30.0 | -28.6 | -28.6 | -53.9 | -53.9 | —30.3 | -30.3
P -41.3 | -41.3 | -28.0 | -28.0 | -53.2 [ -53.2 | -24.2 [ -24.2 [ -28.9 | -28.9 | -30.0 | -30.0 | -28.2 | -28.2 [ -28.1 | -28.1
e -34.4 | -36.1 | -33.7 | -33.7 | -49.8 [ -50.1| 5.1 -9.9[-35.3|-36.2| -30.2 | -30.2| -33.9 | -33.9 | -37.6 [ -38.9
N -30.3 | -30.3 | -19.3 | -19.3 | —44.3 [ -44.3 1 -20.9 [ -20.9 [ -31.0 | -31.0 | -43.6 | -43.6 | -45.3 | -45.3 | -24.9 [ -24.9
HhE -25.1 | -25.1 | =30.2 | =30.2 | —25.7 [ -25.7 | -15.8 [ -15.8 | -35.9 | -35.9 | -55.6 | -55.6 | —29.0 | —29.0 | —28.6 | —28.6
IR -31.6 | -31.6 | —29.4 | —29.4 | -39.8 [ -39.8 | -15.6 | -15.6 | -26.6 | -26.6 | -22.3 | -22.3 | -49.2 | -49.2 | —24.3 | -24.3
&[] -30.4 | -30.4 | —20.2 | —20.2 | -39.6 | -39.6 | —21.3 [ -21.3 [ -29.3 | —29.3 | -17.5 | -17.5 | -72.2 | -72.2 | -32.1 | -32.1
108 omK| -33.2 | -34.1 | -32.1 | -32.8 | -43.8 | -445 | -17.4 | -19.4 | -29.5 | -30.6 | -38.0 | -39.7 | -48.6 | —49.1 | -24.1 [ -25.0
e -30.2 | -30.2 | -34.5 | -34.5 [ -38.7 | -38.7 | -17.1 | -17.1 | -26.7 | -26.7 | =31.1 | -31.1 | -66.4 | -66.4 | -25.2 | -25.2
L Eld -29.8 1 -29.8 | -35.9 | -35.9 | -35.5 [ -35.5 | -10.1 | -10.1 | -29.4 | -29.4 | -37.6 | -37.6 | -44.5 | -44.5 | -25.4 | -25.4
5SS -34.4 | -34.4 | -33.6 | —33.6 | —43.7 [ -43.7 | —20.4 | -20.4 | -27.0 | -27.0 | -33.1 | -33.1 | -48.2 | -48.2 | —24.1 | —24.1
HES -31.4 | -31.4 | -34.1 | -34.1 | -38.8 [ -38.8 | -13.7 [ -13.7 [ -29.9 | -29.9 | -41.5 | -41.5 | -59.6 | -59.6 | —26.0 | -26.0
VT -29.1 ] -29.1 | —28.4 | —28.4 | —42.0 [ -42.0 | -17.0 | -17.0 | -35.4 | -35.4 | -52.0 | -52.0 | -45.5 | -45.5 | -21.7 | -21.7
] -35.7 | -35.7 | -35.7 | -35.7 | —41.3 [ -41.3 | -20.1 | -20.1 | -32.3 [ -32.3 | -31.8 | -31.8 | -35.0 | -35.0 | -32.3 | -32.3
M| -39.0 | -44.8 | -31.1 | —34.5 | 52.4 [ -57.3 | —21.2 | -32.6 | -26.8 | -39.2 | -36.2 | -51.5 | -39.8 | -45.7 | —20.6 | —30.2
FLIN -30.5 | -34.0 | —26.1 | —29.8 | -45.7 [ -46.9 | -7.1 | -17.0 [ -30.1 | -32.2 | -39.4 | -41.4 | -59.2 | -60.7 | -21.8 | -24.0
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£ H 57| -63| -70| -80| -33| 38| -44| -48| -87| -94| 64| -6.8|-136|-138 | -15.1|-159|-115| -11.7
10408 58| 61| 65| -72| -31| 32| -54| -55| -94| -98| -72| -7.2|-104|-104|-159 | -16.2 | -11.3 | -11.5
s 74| -74| 88| 88| -4.0| -40| -9.9| -9.9| -8.8| -88| -75| -7.5|-14.7]|-147| -6.7| -6.7|-15.3-15.3
i -5.0| -5.0(-16.6]|-16.6| -4.7| -47| 89| -89 21| 21| -71| 11| -7.7| -7.7| 2713|273 47| -4.7
B -38| -38| -56| -5.6| -2.4| -2.4| -2.7| -2.7| -5.4| -54| -55| 55| -4.6| -4.6|-16.7|-16.7 | -10.6 [ -10.6
bl -6.0| 60| -5.7| -5.7| -0.4| -04| -5.7| -5.7|-13.1|-13.1| -47| -4.7|-16.2]-16.2| -13.2| -13.2| -13.5 [ -13.5
Zay 76| -76| -71| -7.1| -3.8| -3.8| -3.5]| -3.5|-17.3|-17.3| -1.7| -1.7|-12.6 | -12.6 | -12.6 | -12.6 | -10.1 | -10.1
Pk -9.2|-136| -88|-18.0| —-6.4| -83| -6.7| -9.2|-15.4|-20.7| -7.0| -7.0|-26.0|-26.1|-18.2| —25.4 | -17.1 | -18.7
KB -8.7| -8.7(-104]-104] -5.1| -5.1| -9.4| -9.4|-13.7|-13.7 | -16.8 | -16.8 | -22.2 | -22.2 | 22.2 | -22.2 | -12.4 | -12.4
(Lal 38| -38| -3.2| -3.2| -1.4| -1.4| -2.3] -2.3|-102|-10.2| -48| -4.8|-30.0]-30.0| 9.1| 9.1|-10.5(-10.5
Nz 29| 29 -44| 44| 29| 29| -2.7| -2.7| -76| -76| 21| 21]-259]-25.9| -1.8| -1.8| -7.9[ -7.9
e e 2.7 27| 88| 88| -2.7| 2.7 -6.0] -6.0| -8.8| -8.8|-142|-142| 53| 53] 81| -81| -7.1| -7.1
omesiomE| 55| -67| -77| -90| -37| -49| 25| -35| -78| -89 | -49| -58|-204|-210|-122(-148 (| -116 | -12.1
AeiE -10.6 | -10.6 | -11.0 | -11.0 [ -11.0 [ -11.0 | -14.8 | -14.8 | -8.6| 86| -0.8| -0.8| -7.5| -7.5[-29.1[-29.1| 13.7| 13.7
L Eld -10.0 | -10.0 | -12.5| -12.5 | -7.5| -7.5]-11.0 | -11.0| -9.9| -9.9| -4.3| -4.3| -9.3| -9.3[-29.8|-2908| -2.9] -2.9
BT 62| 62| 87| 87| -5.3| -53| -2.3| -2.3| -74| -74| 52| -5.2|-21.2]-21.2| -89 -8.9(-13.0[-13.0
HEs 54| -54| -5.3| -5.3| -5.1| -5.1| -5.0] -5.0| -6.6| -6.6| -2.7| —2.7|-22.5]-22.5| 14.5| 14.5|-19.8[-19.8
T 35| 35| 63| -6.3| -1.0| -1.0| -0.2] -0.2| -9.2| -9.2| -41| 41| -7.0| -7.0| 84| -84| -52| -52
H[E] -83| -83| -79| -79| -3.5| -35| -2.3| -2.3|-17.1|-17.1| -82| -8.2|-47.3|-47.3|-12.9-12.9 | -11.9 [ -11.9
Y [ 0.1 87| -9.6|-31.2| -2.0 88| -76[-11.7[ 8.2 1.2 -1.6| -8.6[-28.1|-28.2|-14.5]-37.5|-21.9| -23.6
FLIN -35[-103| -3.8]-11.3] 09| -65| -05]| -7.7| -8.8|-146| -56|-11.1|-26.4|-32.3|-10.3| -17.6 | -10.7 [ -12.8




